LAND ROVER

. -

Q +902165083786 R info@parsrot.com



Leading

Manufacturer
Company

WHY PARS STEERING
SUSPENSION PARTS

1. Having an understanding that maximizes customer satisfaction.
2. 32 years of experience on automotive spare parts industry.
3. Certificate of IS0 9001:2015

4. Factory is next to biggest port, Logistic Companies and Air Cargo
in Istanbul, Turkey

5. High-Tech Machinery, and High-Sustainable Quality
6. Just in time production with scheduled producing program.
7. Competitive and reasonable prices.

8. Fast Costum Regulations.

9. Customer-oriented operating system

0

Ferhatpaga Mahallesi 38. Sokak No: 91
Atasehir/ISTANBUL, Tiirkiye

e +90216 661 26 19

Q) +90216 661 2619

ABOUT COMPANY

As a leading manufacturer, PARS ROT VE ROTIL company has been
producing high qualified steering and suspension spare parts

for passenger cars and light commercial vehicles, it has been founded
in 1989 and it has supplied acceleration to the sector with the
improving institutional structure and fast growing producing power

that it has.

Over 5 million items annual producing capacity and 7 thousand
product range, and with over 200 employees places

PARS ROT VE ROTIL to the position of leadership within the sector in
national and also international improving markets.

As one of the varied range steering and suspension parts manufacturer
in the world,

production and assembling facilities of PARS ROT VE ROTIL contains
operations of the following product lines in steering and suspension

group for the aftermarket, stabilizer links, tie rod ends, axial joints,

ball joints, bushings.

PARS ROT VE ROTIL, is certified under ISO 9001-2015 quality
management systems and the products are precisely assembled in our
assembly lines and further, are made ready for packing upon

final control.

www.parsrot.com
info@parsrot.com




LAND ROVER

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 3 info@parsrot.com




ﬂo{”
mw Land LAND ROVER

DEFENDER 1990-2000

B LA-11105 LA-12101

Ball Joint Tie Rod End

Front Lower Front Outer
575882 11/16"16Rht
RTC5869

LA-12102 LA-14107
Tie Rod End Stabilizer Link

Front Outer Front ve Rear
11/16"16Rht L=64mm

RTC5870 NTC1888

vy

DEFENDER I LJ-LT 1984-1990

LA-12102 LA-11105

Tie Rod End Ball Joint

Front Outer Front Lower
11/16"16Rht 575882
RTC5870

LA-12101 LA-11104
Tie Rod End Ball Joint

Front Outer Front Upper
11/16"16Rht 572337

RTC5869

6
@

DISCOVERY I LJ-LG 1989-1998

LA-11104 LA-11105
Ball Joint Ball Joint
Front Upper Front Lower

572337 575882

LA-12102 LA-12101 _

Tie Rod End Tie Rod End

Front Outer Front Outer

11/16"16Rht 11/16"16Rht

RTC5870 RTC5869

Stabilizer Link
Front ve Rear
L=64mm
NTC1888

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 4 info@parsrot.com



Rot sy

= Land LAND ROVER
DISCOVERY I LJ-LT 1998-2004
LA-12111 LA-11114
Tie Rod End Ball Joint
Front Front Upper
M18x1.5  Ercas7o
QFS100060
LA-11115 LA-14110
Ball Joint Stabilizer Link

Front Lower

Front
withactiverollcontrol L=243.5mm

FTC3571
RBM100223
LA-14116 LA-12101
Stabilizer Link Tie Rod End

vy

DISCOVERY

Rear Front Outer
Type:4x4 L=158mm/M12x1.25 11/16"16Rht
RGD100682 RTC5869
LA-12102
Tie Rod End
Front Outer
11/16"16Rht
RTC5870
Il TAA 2004-2009
LA-13132 LA-13133
Axial Joint Axial Joint
Right Left
M16X1,5-L=369mm M16X1,5-L=369mm
QFK500020 QFK500010
LA-12131 LA-14136
Tie Rod End Stabilizer Link
Front Front
M16X1,5 Only:4x4 L=286mm
QJB500080 RBM500180
LA-14141 LA-14142
Stabilizer Link Stabilizer Link
Front Right Front Left
L=344,5mm L=344,5mm
RBM500140 RBM500150

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

5

info@parsrot.com



Rot sy

== Land LAND ROVER
DISCOVERY Il TAA 2004-2009
|
LA-11134 LA-16138
—— Ball Joint Suspension Control Arm and Ball Joint =

Front Lower

Assembly
Front Right Lower

RBK500040
RBJ501460
LA-16139 LA-14130
Suspension Control Arm and Ball Joint Stabilizer Link
Assembly
Rear
Front Left Lower L=116.5mm
RBJ501470  RGD000311
LR-20691 LR-20692

Control Arm Bushing

Control Arm Bushing

Front Inner Front Outer
RBK500432 RBX500531
DISCOVERY IVLA
LA-14130 LA-16139

Stabilizer Link

Suspension Control Arm and Ball Joint
Assembly

Rear
L=116.5mm Front Left Lower
RGD000311 ~ RBJ501470
LA-16138 LA-11134
Suspension Control Arm and Ball Joint Ball Joint
Assembly
Front Lower
Front Right Lower
RBK500040
RBJ501460
LA-14136 LA-12131
Stabilizer Link Tie Rod End
Front Front
Only:4x4 L=286mm M16X1,5
RBM500180 QJB500080
LA-13133  LA-13132
Axial Joint Axial Joint
Left Right
M16X1,5-L=369mm M16X1,5-L=369mm
QFK500010 QFK500020

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

6

info@parsrot.com



Rot sy

= Land LAND ROVER

1998-2006

FREELANDER I(LN)

|
LA-12121 LA-12122
Tie Rod End Tie Rod End
Front Right Front Left
M16x1,5Rht M16x1,5Rht
RBJ100220 RBJ100230
|
LA-11125 LA-16127
Ball Joint Suspension Control Arm and Ball Joint
Assembly
Front
Front Right Lower
RBJ102450
RBJ102440
|
LA-16128 LA-16127N
Suspension Control Arm and Ball Joint Suspension Control Arm
Assembly
Front Right Lower
Front Left Lower
RBJ102440
RBJ102450
|
LA-14210 LR-20498

Stabilizer Link

Control Arm Bushing

Front Center
L=178.3mm  RBX101790
RBM100172
FREELANDER Il 2006-2014
LA-11224 LA-16228
P Ball Joint Suspension Control Arm and Ball Joint
N\ Assembl
! @ | Front y
g / Front Right Lower
N\ 4 LR007206
LR007205
LA-16229 LA-14226
= Suspension Control Arm and Ball Joint Stabilizer Link
N Assembl
i @ | Y Front
|y Front Left Lower L=347mm
o LRO07206 | R002626
LA-14227 FO-12972
P Stabilizer Link Tie Rod End
ey | Rear Front Left
S )
\ n J L=229mm M18x1,5
LR002876 31280001

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

7

info@parsrot.com



Rot sy

= Land LAND ROVER
FREELANDER 2006-2014
. |

FO-16976N

S~ Suspension Control Arm

Front Right Lower

FO-16977N

Suspension Control Arm =

Front Left Lower

1469024 1469026

FO-12971 FO-20667

Tie Rod End Control Arm Bushing
Front Right Center
M18x1.5 | Ro07205
31280001

FO-20665 FO-20666

N Control Arm Bushing Control Arm Bushing
! Right  Left
30881488 T7TGIN3A053BA
L359

FO-20666 FO-20665

Control Arm Bushing Control Arm Bushing
Left Right
7GIN3A053BA 30881488
FO-20667 FO-12971
Control Arm Bushing Tie Rod End
Center Front Right
LRo07205 ~ M18x15
31280001
FO-16977N FO-16976N

Suspension Control Arm

Front Left Lower

Suspension Control Arm

Front Right Lower

1469026 1469024
FO-12972 LA-14226
Tie Rod End Stabilizer Link
Front Left Front
M18x1,5 L=347mm
31280001 LR002626

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= Land LAND ROVER
LR2 L359 2006-2015
|
LA-16229 LA-16228
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint

Assembly
Front Left Lower

LR007206

Assembly
Front Right Lower
LR007205

LA-11224
P Ball Joint
Front
LR007206

TAA

2004-2009

LR-20692

Control Arm Bushing
Front Outer

RBX500531

LR-20691

Control Arm Bushing
Front Inner

RBK500432

I, Classic

LA-12102
Tie Rod End

Front Outer
11/16"16Rht

RTC5870

LA-12101
Tie Rod End

Front Outer
11/16"16Rht

RTC5869

LA-11105
Ball Joint
Front Lower

575882

LA-11104
Ball Joint

Front Upper
572337

RANGE ROVER L405 2012 after
|
LA-19175 LA-16192
o Lateral Arm Suspension Control Arm and Ball Joint
Assembly
Rear Upper
A=385.5MM Front Right Lower Rear

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= Land LAND ROVER
RANGE ROVER L405 2012 after
LA-16193 LA-14186
Suspension Control Arm and Ball Joint Stabilizer Link
Assembly
Front Right
Front Left Lower Rear L=184MM
LRO34218 | Ro48093
LA-14187 LA-16169
Stabilizer Link Suspension Control Arm and Ball Joint
Assembly
Front Left
L=184MM Front Left Lower Front
LR048092 ~ LR034220
LA-19178 LA-19179
Lateral Arm Lateral Arm
Rear Right Rear Left
LR037702 LRO37700
LA-13173 LA-12171
Axial Joint Tie Rod End
Front Front
M14x1.5-L=330mm M14x1.5
LR033529 LR033534
LA-16168 AU-20494
Suspension Control Arm and Ball Joint Control Arm Bushing
Assembly
Front Left Inner P
Front Right Lower Front & :‘?
3C0199231D e
LR034219 o
LR-20894 LR-20980
Control Arm Bushing Control Arm Bushing
Front Rear Upper
LR037702 LR037690
LM, L322 2002-2012
|
LR-20658 LA-19151
Control Arm Bushing Lateral Arm
Upper Rear
RBX000200  -=301.4mm
RGD500180

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= Land LAND ROVER
RANGE ROVER LM, L322 2002-2012
LA-13153 LA-12152
N Axial Joint Tie Rod End
g Front Front
) M16X1,5-L=230mm M16X1,5
o TIQO00040  TIQO00030
]
LA-11154 LA-16150
Ball Joint Suspension Control Arm and Ball Joint
Assembly
Front
Front Lower
RBK500210
RBJ500920
LA-16158 LA-16159
N Suspension Control Arm Suspension Control Arm
| ! Front Right Front Left
- RBJ000120 RBJ000130
|
LA-14156 LA-14157
Stabilizer Link Stabilizer Link
Front Rear
L=380mm L=120mm
) RBM500200 RGD500150
LP, P38A 1994-2002
|
LA-11115 LA-11114 =
Ball Joint Ball Joint
Front Lower Front Upper
FTC3571 FTC3570
|
LA-12111  LA-14117
Tie Rod End Stabilizer Link Q‘ ?{
Front Front
M18x1,5 L=97mm H
QFS100060 ANR3304
RANGE ROVER EVOQUE L538 2011-2018
|
LA-14227 LA-13233
Stabilizer Link Axial Joint
Rear Front
L=229mm M18X1,5-L=298mm
LR002876 15LR026271

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



—
sy L and

RANGE ROVER EVOQUE

L538
LA-12231 LA-12232
Tie Rod End Tie Rod End
Front Right Front Left
M18X1,5 M18X1,5

LR026267 LR027570

LA-16238 LA-16239
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint

Assembly Assembly
Front Right Lower Front Left Lower
(ALM.) (ALM.)
LR073521 LR045802
LA-14236 LR-20907

Stabilizer Link

Front
L=321mm

LR024474

Control Arm Bushing
Front Outer
LR045803

LR-20908

Control Arm Bushing
Front Right Lower Inner
LR045803

I, L320

LR-20691

Control Arm Bushing

LR-20692

Control Arm Bushing

Front Inner Front Outer
RBK500432 RBX500531
LA-19258 LA-19259
Lateral Arm Lateral Arm
Rear Right Upper Rear Left Upper
LR063719 LR063718
LA-13140 LA-23140143
Axial Joint Steering Tie Rod Assembly
Front Front
M16x1,5-L=365mm QKF500030
QKF500030

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

LAND ROVER

2011-2018

2005-2013

parsrot.com

12

info@parsrot.com



Rot sy

= Land LAND ROVER
RANGE ROVER SPORT 1, L320 2005-2013
|
LA-12143 LA-12201
Tie Rod End Tie Rod End
Front Front
M16x1,5Rht chasisnofrom:9A191792
QJB500040 LR010676
LA-11144 LA-11145
Ball Joint Ball Joint

Front Lower

Front Upper

Front Right Lower
RBJ501280

RBK500180 RBK500170
LA-16148 LA-16149
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Left Lower

RBJ501290

LA-16148N

Suspension Control Arm

Front Right Lower

LA-16149N

Suspension Control Arm

Front Left Lower

Control Arm Bushing
Rear Upper
LR037690

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

RBJ500546 RBJ500456
LA-14147 LA-14130
Stabilizer Link Stabilizer Link
Rear Rear
activestabilizer L=132mm L=116.5mm
RGD500140 RGD000311
LA-14142 LA-14141
Stabilizer Link Stabilizer Link
Front Left Front Right
L=344,5mm L=344,5mm
RBM500150 RBM500140
RANGE ROVER SPORT Il, L494 2012 after
| |
LR-20980

parsrot.com

13

info@parsrot.com



Rot sy

m Land LAND ROVER
RANGE ROVER SPORT I, L494 2013 after
I
LA-16248 LA-16249
—~ Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint

Assembly
Front Right Lower Rear

Assembly

Front Left Lower Rear

LR045242 LR045243
LA-14170 LA-14176
Stabilizer Link Stabilizer Link
Front Rear Right
LR035489 LR042975
LA-14177 LA-16168
Stabilizer Link Suspension Control Arm and Ball Joint
Assembly
Rear Left
Front Right Lower Front
LR042976
LR034219
LA-12171 LA-13173
Tie Rod End Axial Joint
Front Front
M14x1.5 M14x1.5-L=330mm
LR033534 LR033529
LA-16169 LA-19175
Suspension Control Arm and Ball Joint Lateral Arm
Assembly
Rear Upper
Front Left Lower Front A=385.5MM
LR034220 | Ro37690

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com






